
1000 Park Drive      •      Lawrence, PA 15055-1018      •      724-746-5500      •      Fax 724-746-0746

© Copyright 1999. Black Box Corporation. All rights reserved.

Installation:

NOTE
The fan can be mounted at either the top or bottom of the cabinet. The fan can draw
outside air into the cabinet or exhaust air from inside the cabinet, depending on how the
fan is installed. Note the airflow-direction arrow on the side of fan during installation.

1) Remove the cover plate from the end of cabinet where the fan will be mounted.

2) Install a nut clip over the mounting holes in the fan body. Install it with the smooth face of the nut clip to the
outside of the fan body. Repeat for the remaining 3 nut clips.

3) Attach a finger guard to the side of the fan that will be exposed on the inside of the cabinet after installation.
Attach it with 2 screws and 2 lockwashers. The screws will go into the nut clips attached to the fan in the
previous step.

4) Place the remaining finger guard on the outside of the cabinet and place the fan on the inside of the cabinet,
aligning the holes in the fan, cabinet, and finger guard. Attach it with 2 screws and 2 lockwashers into the nut
clips on the fan.

5) Attach the power cord by aligning the power lugs on the fan body with the slots on the end of the power
cord. Press the plug firmly against the fan body to assure electrical connection.

Power cord

Finger guard

#6 lockwasher

Nut clip

Fan

6-32 x 3⁄4 screw



Order toll-free in the U.S. 24 hours, 7 A.M. Monday to midnight Friday: 877-877-BBOX
FREE technical support, 24 hours a day, 7 days a week: Call 724-746-5500 or fax 724-746-0746
Mail order:  Black Box Corporation, 1000 Park Drive, Lawrence, PA 15055-1018
Web site: www.blackbox.com •   E-mail: info@blackbox.com

CUSTOMER 
SUPPORT

INFORMATION

MARCH 1999
RM250

Wallmount Cabinet Fan

What’s Included:
(1) Fan

(2) Finger guards

(4) Nut clips

(4) 6-32 x 3⁄4 screws

(4) #6 lockwashers

(1) Power cord

Additional Tools Required:
• Screwdriver

• Adjustable wrench

Installation instructions are on the back of this instruction sheet.


